3

AERAFREAMXHE
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1G9 7 JE 0 1 D A () | R S M 53 1) (B : mg/L)
117 XHT A 4 ST HHET ST S HT ST
XA ff =2 —R 384 384 384 384 384
X4, =X H EXEH | EXERE | EXRERA | ERERAT
X 7 1010 1010 1020 1020 1020
& 000300 000800 000100 000500 000600
FEF R EE (m) 10.0 N 10.0 3 A~BR
& R EHE B EHE i A~BR
X 5y — R ER — R ER A — AR ER A — R ER A — AR ER A
PKEH H H29.5.29 H29.5. 29 H29.5.29 H29.5. 29 H29.5.29
KiR(°C) 14.5 15.0 14.5 15.8 13.4
B 5UnH =R (mS/m) 33.5 34.7 55.1 42.1 49.5
pH 1.6 7.3 1.4 7.8 1.9
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 < 0. 0004 < 0.0004 < 0. 0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-R)ywa=xf .- < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANZA=1= 12 P < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
17 XCHT A4, SEHAT SEE S EHHET S HT BT
i XAy = —R 384 384 384 384 384
Hi X A4 EXRMERE | EXRERA | EXRERAT | SRERET | ERERA
H X 1020 1020 1020 1020 1020
=& 000700 000800 000900 001000 001100
JE )% (m) ABR A~BH A~BR B I~BR
& R ABR A~BH A~BR B I~BR
P X 5y —HRER A —iRERA — iR &R A —iRERA — R ER A
PR H H29.5.29 H29.5. 29 H29.5.29 H29.5. 29 H29.5.29
/KiR(°C) 17.8 16.8 18.0 14.5 14.8
# SURIE R (mS/m) 49.2 49.9 17.1 46.9 42.8
pH 1.8 1.8 1.4 7.8 1.8
/A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 < 0.0002 < 0. 0002 < 0.0002 < 0.0002 < 0.0002
Va=1=5at Rl P < 0.0002 < 0. 0002 < 0.0002 < 0.0002 < 0.0002
1,2~y 7uax iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/unxF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LL1-NZuoxz < 0.0005 < 0. 0005 < 0.0005 < 0. 0005 < 0.0005
LL2-Nrupxz < 0.0006 < 0. 0006 < 0.0006 < 0. 0006 < 0.0006
KN ZanxzsF1 < 0.001 < 0. 001 < 0.001 < 0. 001 < 0. 001
VANZA=1=5 R < 0.0005 < 0. 0005 < 0.0005 < 0. 0005 < 0.0005
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GG 7 JE 0 1 D A O ) | R S M 53 2) (B : mg/L)
117 XHT A 4 ST HHET ST S HT ST
X ff = —R 384 384 384 384 384
Hu X4, SEXMERE | EXRERA | EXRERAT | SXRERET | ERERA
X 7 1020 1020 1020 1020 1020
& 001200 001300 001400 001500 001600
FE 1 (m) A~Bf B A~BH B A~BH
& R ABf B A~BR B A~BR
X 5y —R&ER — R ER A — AR B A — R ER A — AR ER A
PKEH H H29.5.29 H29.5. 29 H29.5.29 H29.5. 29 H29.5.29
KiR(°C) 15.6 18.6 14.0 14.5 15.8
B 5UnH =R (mS/m) 47,7 50.4 50. 2 60. 6 62.8
pH 1.7 7.8 7.6 1.5 7.6
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb PR 57 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
1,2-Y/unx iy < 0.0004 < 0. 0004 < 0.0004 < 0. 0004 < 0.0004
1,1-Y/anxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-R)ywa=xf .- < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
NZanxzF1 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANZA=1= 12 P < 0. 0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
17 XCHT A4, SEHAT SEE S HHET S HT i H BT
i XAy = —R 384 384 384 384 384
Hi XA EXRMERE | ERERA | EXRERAT | SRERET | ZRMEEMH
H X 1020 1020 1020 1020 1030
=& 001700 001800 001900 002000 000600
FEP TR (m) ABR A~BH A~BR T~BR 1.0
& R ABR A~BH A~BR B ik
FHIEIX 5y —HRER A —iRERA — iR &R A —iRERA — iR ER A
PR H H29.5.29 H29.5. 29 H29.5.29 H29.5. 29 H29.5.29
/KiR(°C) 16. 2 15.2 15.2 15.6 14.8
# SURIE R (mS/m) 17.4 47.17 16.8 48.1 29.8
pH 1.3 7.8 1.6 7.8 1.2
/A=1=5.0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUtEAb IR 57 < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Va=1=5at Rl P < 0.0002 < 0. 0002 < 0.0002 < 0.0002 < 0.0002
1,2~y 7uax iy < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
1,1-Y/aoxF Lo < 0.002 < 0.002 < 0.002 < 0.002 < 0.008
1,2-Y/unxF L < 0.004 < 0. 004 < 0.004 < 0. 004 < 0.004
LL1-NZuoxz < 0.0005 < 0. 0005 < 0.0005 < 0. 0005 < 0.0005
LL2-Nrupxz < 0.0006 < 0. 0006 < 0.0006 < 0. 0006 < 0.0006
KN ZanxzsF1 < 0.001 < 0. 001 < 0.001 < 0. 001 < 0. 001
VANZA=1=5 R < 0.0005 < 0. 0005 < 0.0005 < 0. 0005 < 0.0005
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(BT s mg/L)

GG 7 JE 0 1 D A () | IR S M 53 3)

117 XHT A 4 SE T S HT ST S HT ST
XAy = —R 384 384 384 384 384

H XA, = RMEART | ERMEERET | ERMEERT | EEMEERT | = RUhEEAT
X 1030 1030 1030 1030 1030
A% 001200 001300 001400 001500 001600
FE 1R (m) A~Bf B A~BR B A~BR
& R A~BR B A~BR B A~BR
&K 53 — iR — iR — AR ER A —iRERA — iR ER A
PR H H29.5. 29 H29.5. 29 H29.5. 29 H29.5. 29 H29.5.29
KiR(°C) 15.5 15.0 14.0 14.0 15.5
#SUnIE = (mS/m) 38.8 48.0 13.5 47.2 47.2
pH 1.0 1.7 1.2 1.7 1.6
DA=1=F.0 4 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002

DU Ak R SR < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
Va=1=5 Rl P < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002
L,2-v/unxiys < 0.0004 < 0. 0004 < 0.0004 < 0. 0004 < 0.0004
L1-v/unxF1rLo < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1L,2-v/unxcFL s < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1,1-R)yua=xf.- < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
1,1,2-R)ywa=xf .- < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
N7 =t P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA=1= 5 R < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
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GG 7 B0 1 DR A () R 52 6t 45 4)

(HLA7 - mg/L)

i XA 44 FEEKAT | EZEKET | EZEHEKET | EZEKET | EZERRKET
XA R = —R 386 386 386 386 386
HiX 4 Sk Sk Sk Gk Sk
HX %= 0110 0110 0110 0110 0110
S 000900 001000 001100 001200 001300
FEFTTEE (m) B T8 e e B
e = FN:): PN B B i
H&X 5y —HRERA | —RRERA | —RRERA | —RERE | —REE
PAKFHH H29.12.19 | H29.12.22 | H29.12.19 | H29.12.19 | H29.12.19
7KIE(C) 14.0 14.1 15.0 14.0 14.0
BRAREZH (mS/m) 13.9 13.8 16. 1 17.7 21.6
pH 6.6 6.4 6.5 6.5 6.4
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
1 X AT A4 FESKET | FZEEKET | EZFEKET | F:ZEKET | E:ZEKET
i XKHET R = —R 386 386 386 386 386

X 4, Sk §iE SiE SR 5K
HX %= 0110 0110 0110 0110 0110
HFES 001400 001500 001600 001700 001800
H PG (m) 13 A B4 ~BH ~HH
R N B N N N
Fi&X 5y —HRERA | —RRERAR | —RRERA | —MRERE | —REE
BKFHH H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19
KIE(C) 14.0 13.0 13.0 14.5 14.0
BERAREFE (mS/m) 12.4 14.8 17.1 21.1 17.6
pH 6.3 6.2 6.5 6.6 6.6
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
1 X T AT 44 FEEKAT | EZEKET | EZEKET | EZEKET | EZERRKET
KT R = —R 386 386 386 386 386

X 4, Sk Sk Sk SR SiE
X% = 0110 0110 0110 0110 0110
HEES 001900 002000 002100 002200 002300
H PG (m) <A A 7~ ~BH I~HH
e ORI N B N N N
X5y —HRERA | —ARERA | —REERA | —RESRE | —REE
BKFEHH H29.12.19 | H29.12.22 | H29.12.19 | H29.12.19 | H29.12.19
7KIE(C) 13.0 9.8 14.0 14.0 14.5
BRAREF (mS/m) 18.5 18.1 20.9 20.2 18.0
pH 6.6 6.5 6.7 6.7 6.5
=== < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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GG 7 B0 1 DR A ()| R 52 i 57 5)

(HLA7 - mg/L)

7 XHT A4, EEEKET | FZHKET | FZAOKET | EEEKET | FEHKE
XA = — 1 386 386 386 386 386
XA 5k 5k 5k Sk Sk
Hi1 X 0110 0110 0110 0110 0110
S 002400 002500 002600 002700 002800
HF TR (m) ;! T T TR 10
e = FN:): PN B B THA
X 53 —MRERA | —MREA | —REKA | —REA [ —RERA
PKREH B H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19 | H29.12.22
K (C) 15.0 15.0 16.0 156.5 15.0
XU (mS/m) 26.9 16.4 16.3 17.1 12.7
pH 6.2 6.8 6.6 6.6 6.7
=3 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
7 XA 4, E3E HOKET | FETKET | FEEKET | FZEEKET | FEEKET
X E A= —1 386 386 386 386 386
XA /M| /M| /NI /NI /M|

H1 X 0200 0200 0200 0200 0200
P& 000200 000500 000600 000700 000800
R (m) 8 B 8 6~7 6~7
e = FN:): PN B B i
X 53 AERK | &R | —MR&A | —REA | —RE&A
PRKEH B H29.12.19 | H29.12.22 | H29.12.19 | H29.12.22 | H29.12.22
K (C) 16.0 15.0 15.0 16.0 13.0
AR (mS/m) 15.6 13.6 14.5 19.4 21.8
pH 6.5 6.3 6.3 6.4 6.5
=3 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
7 PCHT A4 EEEKET | FEHKET | FZAOKET | EEEKET | FESKET
X E A= —1 386 386 386 386 386
XA /M| M| /NI /NI /M|
H1 X 0200 0200 0200 0200 0200
P& 000900 001000 001100 001200 001300
FEF TR (m) B A~BH 12 ~BH 8
R TEA N TR TR TEA
RSy —MWRERA | —MREA | —REA | —REA [ —REA
PKEH H H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19
K (C) 18.0 15.5 15.0 16.0 5.4

B SURIE R (MmS/m) 15.9 19.8 20.9 11.5 14.5
pH 6.6 6.4 6.4 6.3 6.1
=3 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005

- 227 -




GG 7 B0 1 KRR A ()| 52 i 57 6)

(HLA7 - mg/L)

7 XHT A4, EEEKET | FZHKET | FZAOKET | EEEKET | FEHKE
T PCHT Ay =1 — 1 386 386 386 386 386
XA 2N M /M| /M /M

Hi1 X 0200 0200 0200 0200 0200
P& 001400 001500 001600 001700 001800
R (m) B 20 15 12 20
e = FN:): PN B B i
RISy —MRERA | —RE&A | —REKA oM | —RREA
PKREH B H29.12.19 | H29.12.19 | H29.12.22 | H29.1.5 | H29.12.19
K (C) 10.0 1.3 15.0 12.0 13.2
XU (mS/m) 20.8 20.3 19.5 21.17 16.8
pH 6.4 6.6 6.5 6.6 6.7
=3 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
7 XA 4, E 3 HKET | FETKET | FEEKET | FiZESKET | FEEKET
T PCHT Ay =1 — 1 386 386 386 386 386
XA /M| M| /NI /NI /M|

H1 X 5 0200 0200 0200 0200 0200
P& 001900 002000 002100 002200 002300
HFETRE(m) 16 TEA 4 3 FER
e = FN:): PN AEH B i
RISy —MRERA | —MREA | A | —REA [ —REA
PRKEH H H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19 | H29.12.19
K (C) 1.0 6.0 8.4 8.8 5.1

B URIE SR (MmS/m) 18.7 17.9 33.7 20.1 16.8
pH 6.7 6.7 6.7 6.7 6.6
=3 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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GG 7 B0 1 DR A (IR T 52 H 57 1)

(HLA7 - mg/L)

T X ETAT 44 &R £iR™ £iR™M &R &R
KA R = —R~ 201 201 201 201 201
HiIX 4 BJAow4|BJAvS|BJAvys|BJAvSs | BIAYY
HX %= 0020 0020 0020 0020 0020
HFES 005600 007200 007300 007400 007500
H P G (m) 80 80 150 130 60
&R EHRE EHP RHPE EHP EHRE
FHIEIX 5y ATERK | AFERK | £FRAK | EFERAK | E£FERAK
FAKFHH H29.12.14 | H29.10.17 | H29.10.17 | H29.12.14 | H29.12. 14
JKIR(°C) 13.5 18.0 17.5 15.0 13.0
BRAREZH (mS/m) 21 27 33 28 37

pH 7.1 1.2 7.6 6.6 7.0
A= 1=5 Y 84 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wil ES < 0.0002 (< 0.0002 |<0.0002 |< 0.0002 (< 0.0002
1,2-Y/max i < 0.0004 (< 0.0004 |[<0.0004 |< 0.0004 (< 0.0004
1,1-Y/oax=FL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/oaxFLs < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1L,1-N) 7=z < 0.0005 (< 0.0005 < 0.0005 |<0.0005 (< 0.0005
1,1,2-N)r7maxk < 0.0006 |< 0.0006 < 0.0006 < 0.0006 [< 0.0006
MNZvaoxFL < 0.001 < 0.001 < 0.001 < 0.001 0. 001
FhFr7ooxFlL < 0.0005 0.0036 0.0005 |< 0.0005 0.0013
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GG 7 B0 1 R A (IR T 52 6t 47 2)

i XA 44 &R
i XA — R 201
H[X 4 Gcg7ovYy
HXEA 0070
H A% 002200
R (m) Al
RS ol EHF
FHIEIX 5y AJERK
BOKEH R H29.12. 14
7KIE(°C) 13.0
BRIEEZE (mS/m) 25

pH 1.4
DA=1=5 Y 0 < 0.002
W R & < 0.0002
,2-Yraux i < 0.0004
1,1-Y/apxFL < 0.002
1,2-Y/upxFlL < 0.004
1,1,1-N)/aaxszy < 0.0005
1,1,2-N)7mm=4 < 0.0006
N Zaax=FL < 0.001
FhoronxzFL < 0.0005
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(HLA7 - mg/L)





